KA Fi R A E ik
tlE R E mFnARSS

Based on talents and technology
Create the best products and services

-

AN . ‘
\\ﬁroduct Catalogue
- T RER f?‘

- .r—'

I

N BEAR DG Q EtHihit HEGONG TOOLS
0511-86839822 0511-86839933 JIAE AT RRE

158-6292-9990 SMITITHE Create a quality brand
138-5293-6600

Build a first—class image



FBH i 121 5 A7 B2 )
WAL T 20104, J& Lk N
o5 22 iy o 1 2k 7 Rk i
152 5 B 4 i 2 )

About us

T FRAT]

[ 2y

process plan time team

AP T TEARAT BRI AT]E
BN AFE, RAME %D, BE
SKNAXIE, FEHERE BT RAR—
MLEF LR RIS, USBREEN, 1B
HEFTZ, RRBSERININTE
iR, BRIQBEA%REGEOMR S
HE. TERIRE L, MEnELLHE. Sfini
HE STEZLHE. DT R, SR
A ERBLES~mitA SHER—F
REB A IR ENRE =, AREE™
mfZERGM . bk, Bk, HAR. B&K,
FEATFLEEZRMMX, TZRATH
. SNEEH, EE. SRS TR,
EEFrT 7 LA RFAI AR R Flmh#

-:l:-\\
BE,

£ “WhERETIWAIRER" X—RE
BxiEsIT, AT ITIASR%E “BF
F—, REE—, HBALSREREW
R CIMEN . B32B3L, TERIFE, A
TR aR et

ElfrE &L 16
Fzh T B4 17
N FRAE TR 22 4 18
DINS71 EFE 22 ¢ 19
DIN376 B 1E 22 HE 20
DIN37142HE 22 4 21
DIN37642E 22 H#E 22
DIN3715im 22 23
DIN3765¢im 24 # 24
DIN352F FH 22 4 25
ARz 26
Lo ASFR:: 27
JEAR L2 $E TE 28
EERE 29
FmiERsE 31
BYRILERER 35

Table of
Content
Hx

AAL TR 01
BfE L 02
R e 2L HE 03
7t i 22 $ 04
B E2L 5 05
TR L 06
%/ EFINRRE L HE 07
3/ K Feim Lt 08
K228 09
STERE 224 10
BR BB 5 11
HirFH 5 12
I —1hLLHE (BHR) 13
RIN— IR (FEhr) 14
PRI — IRt (BFR) 15




EE é_&%ﬁ Straight Flute Tap

o 1S02 B
M % HSS e

4

1t RA IHEELE, EHTESNHMIER.

REEHN, BILEFLEATLUNT, ZRNATEMR
ek, aiFrg. HNtts, NRmRTZ, B
BILH, FWERX.

heat
treatment

S :\7%

FmRTHBR L

Product Parameters

R~t L Le d k HEEFIRFL
M2*0. 4 51.00 15. 00 2.50 2.00 1. 60
M2. 5%0. 45 57.00 17.00 2.80 2.10 2.05
M3*0. 5 51.00 15. 00 3.15 2.50 2.50
M4*0. 7 57.00 17.00 4.00 3.15 3.30
?XW&E@IE: M5*0. 8 63. 00 20. 00 5.00 4.00 4.20
M&*1. 0 72. 00 24.00 6. 30 5.00 5.00
%Eﬁ?ﬂﬁ? EE Lﬂ)ﬁikjﬂm—:o ’3-%&**‘&@1‘51:[:, B *”‘WJEE’JHET AJSC LIRS 0, ) s ) £ (00 5 & el
e M12%1.75 89. 00 29. 00 9.00 7.10 10. 30
MESK. Thifk, ik, AIEEIHRENBE, HERERSFIER, ANMARIE W4 0 95 00 30,00 1 20 5 00 1200
HAAZFUHR, BEHSOME; EXO A s KEEREVRIGEYE, RBeEmt. M16%2. 0 102.00 32.00 12.50 10. 00 14.00
M18%2. 5 112. 00 37.00 14.00 11. 20 15. 50
M20%2. 5 112. 00 37.00 14.00 11.20 17.50
KT REAGERLIBTE, FHARHR, REBRE. M22%2. 5 118. 00 38. 00 16. 00 12.50 19.50
M24%3. 0 130. 00 45.00 18.00 14.00 21. 00
M27%3. 0 135. 00 45.00 20. 00 16. 00 24. 00
M30%3. 5 138.00 48.00 20. 00 16. 00 26. 50

| @ HEGONG HEGONG & |



Spiral Flute Tap ﬂ%ﬁﬁ é_é %ﬁ

B JIS B
M %/ HSSE =

2-2.5

aRhE AT T MR

AR EHRE, E&HEAIRAMI.

R R3S 5A4E, FTEEREKNMIIHMER,
HXAEMER, MRS EREML. @A
HRMERET INGR G MTTE M, MIAFENFM R
AliZAticnifE, REEXAABIHDLCHE.

T "
| |

HSS/HSS-CO

i_ﬁ
YR

| v |

ne

- —_— e _—— e —_——_— e —_——_— -

FmRTHER ;

Product Parameters

R~t L Le d
M2*0. 4 45. 00 7.00 3.00
M2. 5%0. 45 49.00 8. 00 3.00
M3*0. 5 49.00 9.00 4.00
M3. 5%0. 6 52.00 13.00 4.00
M4*Q. 7 56. 00 11.00 5.00
M5*0. 8 64.00 13.00 5.50
M6*1. 0 66. 00 15. 00 6. 00
M8*1. 25 70. 00 16. 00 6.20
M10*1.5 75. 00 20. 00 7.00
M12*1.75 82.00 22.00 8.50
M14%*2.0 88. 00 30. 00 10. 50
M16%*2.0 95. 00 32.00 12.50
M18%2.5 100. 00 37.00 14.00
M20%*2. 5 100. 00 37.00 15. 00
M22%*2.5 115. 00 38. 00 17.00
M24%*3. 0 120. 00 45. 00 19.00

| @ HEGONG

I N IS RS S

— [
_\om

.50
.50

20
20
00
50
50
00
50
50

.00
.00
.00
12.
18,
165

00
00
00

HE

?

.. _ B
SN 0 s o ®Oe o ks 0NN = O

N
==

JEfL

60
10
50
90
30
20
00
80

.50

.30
.00
.00
.50
.50
.50
.00

LY
F] f_ﬁ %ﬁ Spiral Point Tap

60°

e/ Jis B
M 7/  HSSE e |

5-6

;EJ- I. *j- <

HSS/HSS-CO0

THE, At EEttEErRILnT, BaEES.

HZNACHI &84 %), $HXARM R, AR/
B AR RER, MIUATARE, MREE.
JIStRfE, BIERTH .
‘ 7 ‘ W1z
1 1R
| v |

n

FFmRTHER

Product Parameters

R~ L Lc
M2%*0. 4 45. 00 7.00
M2. 5%0. 45 49.00 8. 00
M3*0. 5 49.00 9.00
M3. 5%0. 6 52.00 13. 00
M4*0. 7 56. 00 11.00
M5%*0. 8 64. 00 13. 00
M6*1. 0 66. 00 15. 00
M8*1. 25 70. 00 22.00
M10%*1.5 75.00 24. 00
M12%1.75 82. 00 29.00
M14%2.0 88. 00 30. 00
M16%*2. 0 95. 00 32.00
M18%2.5 100. 00 37.00
M20%*2. 5 100. 00 37.00
M22%*2. 5 115. 00 38. 00
M24%*3. 0 120. 00 45. 00

3.00
3.00
4.00
4.00
5.00
5.50
6.00
6.20
7.00
8.50
10. 50
12.50
14.00
15. 00
17.00
19.00

50
50
20
20
.00
.50
50
00
50
50
.00
10. 00
11.00
12.00
13.00
15. 00

o e AR AW NN

oo

HEFRFL

. 60
.10
.50
90
.30
.20
.00
. 80
.50
.30
.00
.00
.50
.50
.50
.00

BN — I . N .
- 0V N O B~ N O

HEGONG @ |




Forming Thread Tap HE é_é %ﬁ

B JIS B
M %/ HSSE = =
T MR HSS-CO

AR TiB i, BT MEEERM BN T,

MIERETRE, BB RES, HEEEY
=) Bz, RIMEF, Hak, MIELEEEEY
7.

T "
| |

— :\7%

FmRTHER ;

Product Parameters

Rt L Lc d k HEFRKTL
M2*0. 4 40. 00 12.00 3.00 2.50 1.80
M2. 5%0. 45 44.00 14. 00 3.00 2.50 2. 30
M3*0. 5 46. 00 11.00 4.00 3.20 2.80
M4*0. 7 52.00 13. 00 5.00 4.00 3.70
M5%*0. 8 60. 00 16. 00 5.50 4.50 4. 60
M6*1. 0 62. 00 19.00 6.00 4.50 5.50
M8*1. 25 70. 00 22.00 6. 20 5.00 7. 40
M10*1.5 75.00 24. 00 7.00 5.50 9.30
M12%1. 75 82. 00 29.00 8.50 6.50 11.20

| @ HEGONG

£0 &4
A — Machine tap special for Aluminum

60°

2/ JIS B
M HSSE by o

PLEI 2% M i

4 BT, MMM R, MAFRIER, EEfA
B, mIsetMREEE R, FaEmE.

%

FmRTHER L

Product Parameters

R~ L Lc d k
M3*0. 5 46. 00 11.00 4.00 3.20
M4*0Q. 7 52.00 13. 00 5.00 4.00
M5%*0. 8 60. 00 16. 00 5.50 4.50
M6*1. 0 62.00 19. 00 6.00 4.50
M8*1. 25 70. 00 22.00 6.20 5.00
M10*1.5 75. 00 24.00 7.00 5.50
M12*1.75 82.00 29.00 8.50 6.50

HEEFRFL

2.50
3.30
4.20
5.00
6.80
8.50

10. 30

HEGONG @ |




British system /American gt /iﬁu ﬂgﬁﬁ é&
system spiral flute tap > . —

M~ HssE YIS B
P2 2-2.5
AT MR HSS/HSS-CO

=R WAL S £ AR ne 22 ¢

TEEINMEnELLHE, MBMSSH R, MARS™
mi N, FoXBERA, MIAHRAZ
ik, (EHle0” ZFBYfy, ZEHIS5° ZFRIM)

T "
| |

FmRT#H

Product Parameters

Rt

4-40 UNC
6-32 UNC
8-32 UNC
10-24 UNC
10-32 UNF
1/4-20 UNC
5/16-18 UNC
3/8-16 UNC
1/2-13 UNC
1/8-40 BSW
3/16-24 BSW
1/4-20 BSW
5/16-18 BSW
3/8-16 BSW
1/2-12 BSW

| @ HEGONG

v |

ne

I V4
*g% Lc -

L Le d k HEEFIKTL
44.00 8.50 3.00 2.50 2.30
48. 00 13.00 4.00 3.20 2.80
52.00 13.00 5.00 4.00 3.40
60. 00 16. 00 5.50 4.50 3.90
60. 00 16. 00 5.50 4.50 4.10
62.00 19.00 6.00 4.50 5.10
70. 00 22.00 6.10 5.00 6. 60
75. 00 24.00 7.00 5.50 8. 00
85.00 29.00 9.00 7.00 10. 80
44. 00 8.50 3.00 2.50 2. 65
60. 00 16. 00 5.50 4.50 3.75
62.00 19.00 6.00 4.50 5.10
70. 00 22.00 6.10 5.00 6. 60
75. 00 24.00 7.00 5.50 8. 00
85.00 29.00 9.00 7.00 10. 70

r- =1l British system /Ameri
[ SE &I St 2k fhE eriven system /american

B

4-5

o) JIS
M 7/  HSSE B

AT MR HSS/HSS—CO

S IR SN A 3= K ST im 2 HE

BN STimeesE, HBRMSM R, AR TIE
i, VIBEREN, BEES, EMA, MIFHN
FER. (60 ZFAlM, FHIS5° ZFEIA)

‘ IR ‘ Wiz

| Bk |

E— V4
S O o I L
Lc
FamRTHER :
Product Parameters
R~t L Lc d k HEFIRTL
4-40 UNC 44.00 8.50 3.00 2.50 2.30
6-32 UNC 48.00 13.00 4.00 3.20 2.80
8-32 UNC 52.00 13.00 5.00 4.00 3. 40
10-24 UNC 60. 00 16.00 5.50 4.50 3.90
10-32 UNF 60. 00 16.00 5.50 4.50 4.10
1/4-20 UNC 62.00 19.00 6.00 4.50 5.10
5/16-18 UNC 70. 00 22.00 6.10 5.00 6. 80
3/8-16 UNC 75. 00 24.00 7.00 5.50 8.00
1/2-13 UNC 85. 00 29.00 9.00 7.00 10. 80
1/8-40 BSW 44.00 8.50 3.00 2.50 2. 60
3/16-24 BSW 60. 00 16.00 5.50 4.50 3.70
1/4-20 BSW 62. 00 19.00 6.00 4.50 5.00
5/16-18 BSW 70. 00 22.00 6.10 5.00 6.50
3/8-16 BSW 75. 00 24.00 7.00 5.50 7.90
1/2-12 BSW 85. 00 29.00 9.00 7.00 10. 50
HEGONG @ |




vd
Handle extended tap ,][I -k é_é %E

60°

<, 7 B
M %/ Hsse YIS B
P2 4-5
100L KB e/ S 4] FA 22 4
e SELINCYRRE/ Foum ez, BOARIK100, $H%IKC
o FE AT LASRBETT
‘ DIR'S ‘ AE
1 tZ
| o |

ne

- —_— e _—— e —_——_— e —_——_— -

\y ‘

FmRTHBR i

Product Parameters

R~F L Lc d
M2%0. 4 100. 00 12. 00 3.00
M2. 5%0. 45 100. 00 14. 00 3.00
M3%0. 5 100. 00 11. 00 4.00
M4*0. 7 100. 00 13.00 5.00
M5%0. 8 100. 00 16. 00 5.50
M6*1. 0 100. 00 19. 00 6. 00
M8*1. 25 100. 00 22.00 6. 20
M10%1. 5 100. 00 24.00 7.00
M12%1. 75 100. 00 29.00 8. 50

| @ HEGONG

k HEEFRFL

2.50 1.60
2.50 2.10
3.20 2.50
4.00 3.30
4.50 4.20
4.50 5.00
5.00 6.80
5.50 8.50
6.50 10. 30

STE,%% é_é %ﬁ ST/STI tap

A =

> 1SO 2
M v/ HsS 'S0% &

aahE i T MR HSS
AR STIEE %L Fls44k

WTIREZH, MIAFREBEERRANERL
HEo

Frm

‘ IR ‘ iz

| =K |

ns

- —_— e m e s —_—— e —_——_— e =—_— - ==

FmRTHER L

Product Parameters

R~ L Lc d k
STI12%0. 4 44.50 9.50 2.80 2.24
ST12.5%0. 45 48. 00 11.00 3.35 2.80
STI13*0. 5 53.00 13.00 4.00 3. 15
STI14%0.7 58. 00 16. 00 5.00 4.50
STI15%0. 8 66. 00 19.00 6. 30 5.00
STI6*%1.0 72.00 22.00 6. 30 5.00
STI8%*1. 25 80. 00 24. 00 8.00 6. 30
STI10*1.5 80. 00 29.00 9.00 7.10
STI12*%1.75 95.00 30. 00 11.20 9.00

HEEFRFL

2.00
2. 60
3.10
4.10
5.20
6.20
8.30
10. 30

12. 40

HEGONG @ |




M/ HSS

Wyeth pipe thread tap ;g & #Eq ﬂgﬂ Q_Q%E

1S0 2 B

6H  “is

AR (R ERR L/ E IR R 22§

R EBQLHERMTEFRENNERTIR, 4

R WEg, #ERE, =P, NMIRETREYLRE

| DAR:S

A ITA,

RN g

FmRTHER

Product Parameters

R~ L
G1/8-28 59. 00
G1/4-19 67. 00
G3/8-19 75. 00
G1/2-14 87. 00
G3/4-14 96. 00

G1-11 109. 00
261/8-28 59. 00
261/4-19 67. 00
263/8-19 75. 00
261/2-14 87. 00
263/4-14 96. 00
26111 109. 00

' @ HEGONG

Le d k HEEHEIKFL
15.00 8.00 6.20 8.70
19.00 11.00 9.00 11.70
21.00 14. 00 12.00 15. 20
26. 00 18. 00 14.50 19.00
28. 00 22.00 18. 00 24.50
33. 00 26.00 22.00 30. 20
15.00 8.00 6.20 8. 40
19.00 11.00 9.00 11.20
21.00 14.00 12.00 14.75
26. 00 18. 00 14. 50 18. 25
28. 00 22.00 18. 00 23.75
33. 00 26.00 22.00 30. 00

E ﬁ%iﬁ é—éiﬁ JIS hand tap

60°

. Jis B
M Y/ HSS gy e

FA AirF AL (BE)

HiR=XELHESIK. —,. =, WIIH
R DLW, MIEHNBEREES, LEXSDE
%7, LERHA, &5FH.

‘ IS ‘ ARES

| =K |

nes

- —_— e m e s _—— e —_——_— | =—_— - ==

FmRTHER L

Product Parameters

Y

R~r L Lc d k
M2*0. 4 40. 00 12.00 3.00 2.50
M2.5*0. 45 44.00 14.00 3.00 2.50
M3*0. 5 46. 00 11.00 4.00 3.20
M4*0. 7 52.00 13.00 5.00 4.00
M5*0. 8 60. 00 16.00 5.50 4.50
M6*1. 0 62.00 19.00 6.00 4.50
M8*1. 25 70. 00 22.00 6.20 5.00
M10*1.5 75.00 24.00 7.00 5.50
M12%1.75 82.00 29.00 8.50 6.50

HEEFRFL

1. 60
2.10
2.50
3.30
4.20
5.00
6. 80
8.50

10. 30

HEGONG @ |




Combinea 28, I — {224 (JIS ) EETh — &k 2258 (ANISI) comtinearas

o | B - ANSI B
M  Hss YIS 2o M / HSS B
6H 2-2.5 6H 2-2.5
i T MR HSS AahE i T MR HSS
phrli) HI—RE a2 (KFO pol:ls ShI—1hE S22 (FEFO
AIEREhFL, EERo MR, FfE. L BIERTELFL, EER N TR, fBlRA. $hFlmiz
Blfs—2P B, AFEH, BNMEGBEIEES ST} BlR—PIi, AFEH, BHMEGBRIEES
EMTE, NAHFE, KEAE. EWTE, ~AHFE, KEAE.
| 7K | iz | Tk T
| | |
. - | - |
Bk | Bk |
| i e I PR =< o | i e I Y =<
- —Lc_ . —Lc_
L L
FmRTHigE FaRTHiER
Product Parameters Product Parameters
R~ Bk i< LERAVE S avil paa R~ Bk hic LERAVE S avil = pad
M3*0. 5—4& 5k 65. 00 7.50 12.50 1/4 (6.35) BH#r M3*0. 5-%5 5% 53.70 6.50 11. 00 1/4 (6.35) E N
M4*0. 7-H 5k 65. 00 8.50 13.50 1/4 (6.35) BH#r M4*0. 7-55 5% 54. 00 7. 60 10. 50 1/4 (6.35) E N
M5*0. 8- 2k 69. 00 9.50 14. 50 1/4 (6.35) Bz M5*0. 8-%5 2% 58. 00 8.70 14.00 1/4 (6.35) ERR
M6*1. 0—15k 69. 00 10. 50 16. 50 1/4 (6.35) B#r M&*1. 0-55 2% 58. 00 8.80 14. 00 1/4 (6.35) =N
M8*1. 25— =k 72. 00 15. 50 20. 00 1/4 (6.35) B#r M8*1. 25452k 59. 00 10. 00 15. 00 1/4 (6.35) ES N
M10*1. 5-4K 5Kk 72. 00 15. 50 22.00 1/4 (6.35) BH#r M10*1. 5-%5 2k 58. 50 12.00 14. 00 1/4 (6.35) EFR
M12%1. 75— 5k 80. 00 20. 50 26. 00 1/4 (6.35) BH#x

' @ HEGONG HEGONG @ |



s el l'fll_i Ii_ﬁsé_ésﬁ ( DIN ) @ﬁgéﬁ%ﬁ Combined Tap and Drill(ISO)

e DIN B e ISO B
M HSS gy o M HSS Gy o

I i E AL (R I 75 4 T — P 8

AT, EEMAMIIES, s, H7lme AREA LG ERLEILLRE, BTERIL
S i —SmE, ARET, BMESHEEES SO i, FILELE, MEES, TRTHMISES
ENTR, AR, RBHE. TRIER, BRTRE, RIANE.

‘ IR ‘ Wz ‘ DIRS ‘ Wz
1 Y-
| v | v |

IQ.

M e = —— , ?%

FmRTHER L P R AR L

Product Parameters Product Parameters
R~ e Hic LGN VAVl #ix R~t B FhiC JIK B FE
M3%0. 5-1&#R 37.00 6. 50 9.00 1/4 (6.35) (EY o M3 53. 00 5.50 12.00 3.15 2.50
M4*0. 7-1EFR 40. 00 9.00 9.00 1/4 (6.35) fEFR M4 53.00 5.50 15. 00 4.00 3.15
M5%0. 8-1& 4R 43. 00 11.00 10. 00 1/4 (6.35) =R M5 65.00 7.00 15. 00 5.00 4.00
M6*1. 0—1E+R 46.00 11.50 13.00 1/4 (6.35) fEFR M6 65. 00 8.00 22.00 6.30 5.00
M8*1. 25—fE#R 54. 00 14. 50 14.50 1/4 (6.35) =R M8 76.00 15. 00 22.00 6.30 5.00
M10*1. 5-f&4R 64. 00 19.00 18. 00 1/4 (6.35) fEFR M10 83. 00 18. 00 27.00 8. 00 6.30
M12%1. 75-fE 4R 72.00 23.00 20. 00 1/4 (6.35) (EE M12 100. 00 25.00 35. 00 9.00 7.10

| @ HEGONG HEGONG @ |



The machine tap for electric tool m, w I

> 1SO 2
M Hss 302 o

4-5

AR BN TEMRZ#E

NEREELE, SEHE, BAME, 5LE
FLERREIN T . #AER1/4R~F, ETSETRRER
B, fERM7AE.

B 4% 4

+* 9 ===

— :\7%

FmRTHBR i

Product Parameters

R~F L Lc d
M3%0. 5 57.00 16. 00 7.20
M4*0. 7 62. 00 20. 00 7.20
M5%0. 8 62. 00 22.00 7.20
M6*1. 0 67.00 26. 00 7.20
M8*1. 25 67.00 26. 00 7.20
M10%1. 5 73.00 24. 00 7.20
M12%1. 75 77.00 28. 00 7.20

| @ HEGONG

6. 35

6.35

6.35

HEFRFL
2.50
3.30
4.20
5.00
6. 80
8.50

10. 30

7~ TR R E 22 5 ooyt oo wie

M~ nHss YIS B,

6H -2 5
otz VAV Riiki Y ika4:d

AT IE AR NELL 8, WAR1/47AWIRIT, X
HH TAEFEEXNEFLIBINT.

%

FmRTHER L

Product Parameters

R~t L Lc k
M3*0. 5 80. 00 26. 00 6.35
M40, 7 80. 00 26. 00 6.35
M50, 8 80. 00 26. 00 6.35
M&*1. 0 80. 00 26. 00 6.35
Mg*1. 25 80. 00 25. 00 6.35
M10%1. 5 80. 00 25. 00 6.35
M12%1. 75 80. 00 25. 00 6.35

HEFRTL
2.50
3.30
4.20
5.00
6. 80

8.50

10. 30

HEGONG @ |




60°
T

M/ HSS

auh# s T

Din371 straight flute tap D I N 3 7 1 E *E é_é %ﬁ

DIN B
6H 4-5

MR HSS/HSS-CO

AR AR E BN 2

REBARN, BILEFLEATLUNT, EBNATER

=) ML, BHFEE. HNttS, NAFEZ, B

BILLH, FHERFR.

| T | iz
1 .z_ -
1 *E
| oy |
I {P’%é
S O o I L e [
Lc
FamRTHER :
Product Parameters
Rt L Le d k HEFFRCFL
M3 56. 00 9.00 3.50 2.70 2.50
M3.5 56. 00 11. 00 4.00 3.00 2.90
M4 63. 00 12.00 4.50 3. 40 3.30
M4.5 70. 00 13. 00 6.00 4.90 3.70
M5 70. 00 13.00 6.00 4.90 4.20
M6 80. 00 15. 00 6.00 4.90 5.00
M7 80. 00 15. 00 7.00 5.50 6.00
M8 90. 00 18. 00 8. 00 6. 20 6. 80
M9 90. 00 18. 00 9.00 7.00 7.80
M10 100. 00 20. 00 10. 00 8.00 8.50

| @ HEGONG

D I N 3 7 6 E *E é_é %E Din376 straight flute tap

60°

e DIN B
MY v/ HSS N =

aahE s T R HSS/HSS—CO

1iRA AR E N A 28

MEBAR, BAEFLETUNT, SERATER
SIS A, AHERE. MNLE, MAERTE, B
BWLLHl, FEHEFHR.

| v |

ne

- —_— e _m e s —_—— e —_——_— | =—_— - ==

FmRTHER L

Product Parameters

R~T L Lc d
M3 56. 00 9.00 2.20
M3. 5 56. 00 11. 00 2.50
M4 63. 00 12. 00 2. 80
M4. 5 70. 00 13. 00 3.50
M5 70. 00 13. 00 3. 50
M6 80. 00 15. 00 4.50
M7 80. 00 15. 00 5. 50
M8 90. 00 18. 00 6. 00
M9 90. 00 18. 00 7.00
M10 100. 00 20. 00 7.00
M11 100. 00 20. 00 8. 00
M12 110. 00 23.00 9.00
M14 110. 00 25. 00 11. 00
M16 110. 00 25.00 12. 00
M18 125. 00 30. 00 14. 00
M20 140. 00 30. 00 16. 00
M22 140. 00 30. 00 18. 00
M24 160. 00 36. 00 18. 00

10
10
70
70
40
30
90
50
50
20
00
00
.00
11. 00
12.00
14.50
14.50

© 0 NGO R A ®NNNN

HEFRFL

.50
.90
30
70
20
00
00
80
80
50
.50
.20
.00
.00
.50
.50
.50
.00

—~ = _. = _. =
ocBloBENSSEIE "Bl BB B>

N
-

HEGONG @ |




60°

M '/ nHss DIN

STl T

Din371 spiral flute tap DIN371 ﬂgﬁﬁﬁ%ﬁ

B
6H 5535

MR HSS/HSS-CO

1iRA ErRIRIENL A 2 5

DINS71HRES Y, MERESENEES, ERHM

ST REEEE, SEHOKE, 28T, RS

FEZXK,
‘ w1z
1 .3_ =
1 T E
| ok |
JIRRY
%
S | A I D IS P
Lc
= L
FmR-Tiigsk
Product Parameters

R~F L Lc d k EEFKTL
M2 45.00 6.00 2.80 2.10 1. 60
M2. 5 50. 00 7.50 2.80 2.10 2.05
M3 56.00 5.00 3.50 2.70 2.50
M3. 5 56. 00 6.00 4.00 3.00 2.90
M4 63. 00 7.00 4.50 3. 40 3.30
M4. 5 70. 00 8. 00 6.00 4.90 3.70
M5 70. 00 8. 00 6. 00 4.90 4.20
M6 80. 00 10. 00 6.00 4.90 5.00
M7 80. 00 10. 00 7.00 5.50 6. 00
M8 90. 00 13.00 8.00 6.20 6.80
M9 90. 00 13.00 9.00 7.00 7.80
M10 100. 00 15. 00 10. 00 8.00 8.50

| @ HEGONG

DI N37 6!,%3@ é_éiﬁ Din376 spiral flute tap

60°

e/ DIN B
M had HSS 6H A&

aahE ST MR HSS/HSS—CO
1iRA EARIZRENL B 224 (4AHR)

DIN376¥r S, MEESRNEES, EHAM
ST BKHIESE, EEHOME, R, BSH
ZEZX,

‘ IS ‘ AYES

| v |

ns

- —_— e _— e s _—— e —_——_— e =—_— - ==

FmRTHER L

Product Parameters

R~T L Lc d
M3 56. 00 5.00 2.20
M3. 5 56. 00 6. 00 2.50
M4 63. 00 7.00 2. 80
M4. 5 70. 00 8. 00 3.50
M5 70. 00 8. 00 3. 50
M6 80. 00 10. 00 4.50
M7 80. 00 10. 00 5. 50
M8 90. 00 13. 00 6. 00
M9 90. 00 13. 00 7.00
M10 100. 00 15. 00 7.00
M11 100. 00 15. 00 8. 00
M12 110. 00 18. 00 9.00
M14 110. 00 20. 00 11. 00
M16 110. 00 20. 00 12. 00
M18 125. 00 25. 00 14. 00
M20 140. 00 25. 00 16. 00
M22 140. 00 25. 00 18. 00
M24 160. 00 30. 00 18. 00

10
10
70
70
40
30
90
50
50
20
00
00
.00
11. 00
12.00
14.50
14.50

00 NGO R A ®NNNN

HEFRFL

.50
.90
30
70
20
00
00
80
80
50
.50
.20
.00
.00
.50
.50
.50
.00

—~ = _. =N _. =
ocBloBENSSEIE "EIE "Bl “°E>

N
-

HEGONG @ |




Din371 spiral point tap DI N37 1 %ﬁﬁ‘ﬁé_eiﬁ DI N3765Ejlﬁ‘ﬁé_éiﬁ Din376 spiral point tap

60° 60°
T~ T~
P P
&/ DIN B &/ DIN B
» HSS akAA n HSS kA
M 6H 5-6 M 6H 5-6
T IR HSS/HSS-CO mmh# ST MR HSS/HSS-CO
ErrFoum i/l B 22 5 pol:ls ErrscimtL B 224 (4HHR)
DIN371FESH, MESENEES, EHAM DIN376Fr S, MESRERPNEES, EFHM
WEKHEER, EEXORE. BT, HTH ST BKEEE, BEEHOKRE. FET. BTH
ZER. ZER.
‘ DIR'S W1z ‘ DIR'S ‘ Ww1E
e i_ 5 Bl ¢_ bl
1 TR L -
| v | | v |
JTERY JJERY
V4 V4
B | A R IR = - S F PR I 2=
Lc Lec
[ =] =
FmR-Tiigsk - FmRTMgER -
Product Parameters Product Parameters
Rt L L d k BERTL R~ L ke d £ R
M3 56. 00 9.00 2.20 - 2.50
M2 i U 00 2 U 1l llo &Y M3.5 56. 00 11.00 2.50 2.10 2.90
M2. 5 50. 00 9.00 2.80 2.10 2.05 M4 63.00 12.00 2.80 2.10 3.30
M4. 5 70. 00 13.00 3.50 2.70 3.70
M3 56. 00 9.00 3.50 2.70 2.50
M5 70. 00 13.00 3.50 2.70 4.20
M3.5 56. 00 11. 00 4.00 3.00 2.90 M6 80. 00 15. 00 4.50 3.40 5.00
M4 63. 00 12. 00 4.50 3.40 3.30 M7 80. 00 15.00 5. 50 4. 30 6.00
M8 90. 00 18. 00 6.00 4.90 6.80
M4. 5 70. 00 13. 00 6.00 4.90 3.70 = B e — = —
M5 70. 00 13. 00 6. 00 4.90 4.20 M10 100. 00 20. 00 7.00 5.50 8. 50
M11 100. 00 20. 00 8. 00 6.20 9.50
M6 80. 00 15. 00 6. 00 4.90 5. 00
M12 110. 00 23.00 9.00 7.00 10. 20
M7 80. 00 15.00 7.00 5.50 6.00 M14 110. 00 25.00 11.00 9.00 12.00
M8 9000 18. 00 8 00 6. 20 6. 80 M16 110. 00 25.00 12. 00 9.00 14. 00
M18 125. 00 30. 00 14. 00 11.00 15. 50
M3 AL LEhY i o oty M20 140. 00 30. 00 16. 00 12. 00 17.50
M10 100. 00 20. 00 10. 00 8. 00 8. 50 M22 140. 00 30. 00 18. 00 14. 50 19. 50
M24 160. 00 36.00 18. 00 14. 50 21. 00
| @ HEGONG HEGONG @ |




Din352 hand tap DI N352$4

L DIN B
M % HSS 6H -

EfRFRLE (HE)

ERR=XE4#ESLR. —X, =], MIITH
DEWeE, MIEHIZSEERS, ZiEXKENS
%h, LR, E4FH.

‘ IR ‘ Wz

| Bk |

S— V4
Lc
FmRTHigxR :
Product Parameters

R~t L Lc d k HEEFIKTL
M2 36.00 8. 00 2.80 2.10 1. 60
M2.5 40. 00 9.00 2.80 2.10 2.05
M3 40. 00 11.00 3.50 2.70 2.50
M3.5 45.00 13.00 4.00 3.00 2.90
M4 45.00 13.00 4.50 3.40 3.70
M4. 5 80. 00 15. 00 4.50 3.40 5. 00
M5 50. 00 16. 00 6.00 4.90 4.20
M6 56.00 19.00 6.00 4.90 5.00
M7 56. 00 19. 00 6.00 4.90 6.00
M8 63.00 22.00 6.00 4.90 6.75
M9 63.00 22.00 7.00 5.50 7.75
M10 70. 00 24.00 7.00 5.50 8.50
M11 70. 00 24.00 8.00 6.20 9.50
M12 75.00 28.00 9.00 7.00 10. 25
M14 80. 00 30. 00 11.00 9.00 12.00
M16 80. 00 32.00 12.00 9.00 14. 00
M18 95.00 34.00 14. 00 11. 00 15. 50
M20 95.00 34.00 16. 00 12.00 17.50

| @ HEGONG

ﬁﬁﬁ%ﬁ GOST machine tap

60°

e DIN B
MR v/ HSS N e=o

aahE i T MR HSS

FEHOHRTHHIARS, RANRSERRNEE
4 iy Hl, BILFMEK, FaKMELEF, SSEE
, BT R, FRHARANFR, FHEEX

NIE=YN~ 8

‘ 7K ‘ LBRES

| Bk |

E— V4
S | AR R PR [- N e N
Lc
R gR :
Product Parameters

RY  mk ok @me  wR WEY AP
M3%0. 5 48. 00 11.00 2.24 1.80 6%F 3F
M4*0. 7 50. 00 13.00 3.15 2.50 67F 3F
M5%0. 8 58. 00 16.00 4.00 3.15 67F 3F
M&*1. 0 66. 00 19.00 4.50 3.55 6% 3F
M8*1. 25 72.00 22.00 6. 30 5.00 6%F 3F
M10%*1.5 82.00 24.00 8.00 6. 30 6%F 3F
M12%1.75 89. 00 29.00 9.00 7.10 6%F 3F
M14%2. 0 95. 00 30.00 11. 20 9.00 6% 37
M16%2. 0 102. 00 32.00 12. 50 10. 00 6% 3%
M18%*2. 5 112. 00 37.00 14. 00 11. 20 6% 3F
M20%*2. 5 112. 00 37.00 14. 00 11. 20 6%F 3F
M22%2. 5 118. 00 38.00 16. 00 12.50 67F 3F
M24%3.0 130. 00 45.00 18.00 14.00 67F 3F
M27%3.0 135. 00 45.00 20. 00 16. 00 67F 3F
M30*3. 5 138. 00 48. 00 20. 00 16. 00 6% 3F

HEGONG @ |




Nut tap m,% ﬂ é_e %ﬁ HE ﬁ; é_ﬁ %E E 1& custom-made non-standard taps

T 27 HSS
iRA SPES L 35 F24::

1BiE L, FEEATFEENM IS, RiEE
=) MERN T R R SR WERELER K, H
BEIRE PENIB) HEAFKHT75%.

\ I £ AU T AR 2248 B 4R 5F

L LIV KT
N y%

FmRTHBR i

Product Parameters

R~ L Le d HEERTL
M2 36.00 12.00 1.40 1.60
M2. 5 36. 00 14. 00 1.80 2.05
M3 40. 00 15. 00 2.24 2.50
M4 50. 00 21.00 3, 18 3.70
M5 55. 00 24.00 4.00 4.20
M6 60. 00 30. 00 4.50 5.00
M8 65. 00 36. 00 6. 30 6.75
M10 70. 00 40. 00 8.00 8.50
M12 80. 00 47.00 9.00 9.00
M14 90. 00 54.00 11.20 12.00
M16 95.00 58. 00 12.50 14.00
M18 110. 00 62. 00 14. 00 15. 50
M20 110. 00 62. 00 16. 00 17.50
M22 110. 00 62. 00 18. 00 19.50

| @ HEGONG HEGONG @ | ]



= £ H 30k &

High-end automatic equipment s=r# s asEises




(= PR o
Product for reference ; Al 1#_5, m § %

‘== PR
F (n]n] li4ﬁ %% Product for reference

HEGONG£ I Z P S EFuISORS B 3T EL

HEGONGZ2 L Z PZR A5 E RIKTAS (HA TR T M%) M EMHIE, XINEXERCHEEE. ik
ABR, SRZETQAVMREE 790, 7Tmmk LA LAY, B2 KNP EREERTUOAEESR, §—RIBEEL
ZAR20 um, FREIP1 R BYEBEAERN (+0, +20 um), LULIEHE, P24RJA (+20, +40)P3KA
(+40, +60) P4Z% A (+60, +80) .

WnRBFR N, MRZLIMAVIREE 0. ommB LA TRY, R KRPEEERTUIOumAEER, B—&
FREELAZEN15 um JREIP1R A (+10, +25 um), LALL2EHE, P23 A (+25, +40) P3ZK A (+40,
+55) PAZR /g (+55, +70) .

PREZWZ AW ERERNE P& Z 1l

A %B FRE: M8X1.25

#2860, 7mmal A F0. 7mm ¥286: 0. 6mmskATFO0. 6mm S:hRAEIRLUE
NZE: 20um NE: 15um Cpm) : MARTIESERE

0 20 40 60 80 pm

85 |

Jis

80+

70 A

60+

55 4 (+um) MAKKEE
/_Aﬁ

PO I 3 [ ps | |

Basic Potch Dia. Basic Potch Dia. Sp P2 [ P3 [ P4 | |

S M
Y/ (rum) MKKE

10 4

ATIEIFFE 1SOBEEEER, ARRXN THLKEREPRFEE UL FER, BiErYIRIEL
R, FIRLWRY|, BEEBLTRIF. FIAESRERXBTEEE MR, URFGE
RPN EFRZERIM BB N T, ARRSEFREPRIEE X R 2R AEN @ (A
RSYR£H0) IR FER .

TREHEGONGHHEPEEE SESMABERTHFEEXEZH

R+ FRAEREE MABE (pm) RS E MABE (tum)

P2 P3 (+15) P4 (+30) P1 P2 (+15) P3 (+30)
P2 P3 (+15) P4 (+30) P1 P2 (+15) P3 (+30)
P2 P3 (+15) P4 (+30) P1 P2 (+15) P3 (+30)
P2 P3 (+15) P4 (+30) P1 P2(+15)/P3(+30) P4 (+45)
P2 P3 (+20) P4 (+40) P2 P3 (+20) P4 (+40)
P2 P3 (+20) P4 (+40) P2 P3 (+20) P4 (+40)
P2 P3 (+20) P4 (+40) P2 P3 (+20) P4 (+40)

M8  x1.25 P3 P4 (+20) P2 P3 (+20) P4 (+40)
P3 P4 (+20) P2 P3 (+20) P4 (+40)
P4 P5 (+20) P2 P3 (+20) P4 (+40)
P4 P5 (+20) P2 P3 (+20) P4 (+40)
P4 P5 (+20) P2 P3 (+20) P4 (+40)
P4 P5 (+20) P3 P4 (+20)
P4 P5 (+20) P3 P4 (+20)

| @ HEGONG

Bt £ BHA X FR R 15 EA

O HEGONGHELHMGHREE
@ CRIEENEANKIBEREANSIHRL2KGHS, AZE0.0005inch (12.7 pm) EHERIZE.

2RNBSHFELRNEF LR R

NE

M1, M1.2,M1. 4

M1.7 [

M2, M2.3 [
Ces ]
e ]

| I 525 iR
: I vAMAWA G R4 TOREEE

pesJy] 8sJeo)

Cwz ]

EEE
[ 5. 605 |
Cwoo7s |
T ]
Cwo ]
Cwizis ]

O #£WMEREHE
@ i THHRHS 3o in T3

WA T # B R E Y H! 3

UE|

peaJy] su

E$54 15725
8, B4 _
G A Sl EXH. B 2535
G, was i 15725 oA 1 5" 65
TE WSIA. EEM. B4 25735 RokiAE 25765
4 &M $540%4 25735
=i Sl3EM . FEIEM 25735
e AW, PRI, TN 6715 TR 2Rh5 6 2
REIEN, ERREERIG 15725 RIKR 2157175

THERESFELBEESTR

TfL&= N+RS, N+RZ

D-0. 55P G3, G4
D-0. 50P G5, G6
D-0. 45P G7, G8
D-0. 40P G9, G10, G11
D-0. 35P G12,G13

HEGONG @ |



o R
Product for reference F Al ls_E, m é%

7= ik |

ﬁ :_J/iE% Product for reference

O —MHMAMILZERE, SEWEIMER, KAMIK, LA LM RELEMAE. YIH
Wi, BANMBEASRNEEMFFEAZGBEWBETVIHRE RS, FrERE
HEfFREE.

O THRATRA—MBNATEMHEIMXIBIRESER, FHERRLZBIRS ARG ZVIHIFHIE
HRE LRI TIRIRE .

LR FHRE (M/min)

% 10 T4y LS
R SS400 S10C~S25C 6710 8715 10720 - 8715
7820 $25G~S45C 579 6712 8714 - 7712
S45G~S58C 578 5710 8712 - -
AEW SCM. SNCM 578 5710 7710 - 5710
B 20750HRC 376 375 477 - -
sus 377 378 479 - 6715
SKD 579 578 6710 - -
SC 6710 6710 8713 - -
FC 12717 9716 10718 15725 -
FCD 578 5710 5710 12720 -
£ Cu 7711 8712 8713 15733 25735
Bs. BsC 10720 11722 13725 23733 25735
W5 1 PB. PBC 8715 8715 10718 18733 25735
Al 15720 15725 20725 23740 25735
AC. ADC 10720 11722 12724 15725 15725
MC 7715 7715 10720 12720 15725
Rt ZDC 7715 7715 10720 12720 15725
- 10715 11717 12718 12725 -
6A1-4V - 375 577 - -
RES = 173 274 - -

4

*— BT R

R 158 P S RS Sk A A 0 R R BB

[l | @ HEGONG

W oF RS S

TAPPING SPEED AND RPN
© MEZRE Conversion table

40

35

30

25

K i S

20

(m/min)
Tapping speed

15

10

2000rpm
1500rp
10
00r e
9
00,.0,”
S0
% o
20
o
&

%, 5,
"

%
%,
&

I/I ’LQQ(Q‘“

4007 O™ _L—"

/ L+
|
L+
| 1
|+

1234567891112 1415161718 20 22
BRLLIIME (mm)

Outside diameter of tap

© &3k Calculation Sheet

77-D-N

YIHREV = ————— B3 N =

Cutting speed 1 000 RPM

V: FIHIEE (m/min) Cutting speed N: [EI2%%# (rpm) RPM

D: #R22IG45NME (mm) Tap 0.D

7: EBEZE(3.14)

2425262728 30

1000 -V

7T-D

HEGONG @ | [}



I (RR) B FE 22 48 S5 (4B B FE 22 48 S Ce) V) 1) 2 5 3E I (4) P Bl £2
UNC THREAD FORMING TAP | UNFTHREAD FORMING TAP | UNIFIED COARSE CUTTING TAP |  UNIFIED FINE CUTTING TAP

1 FFELE:- TBMI, RABLREAREMLESS

Forming tap:no cutting, improve the thread surface quality

and tap's

life

2, Vgt ERTEAMI, THRB

Pointed tap:suitable for through hole

downward chip

3. ZhELLtE - ERTEAMI, EHRBE

Spiral fluted tap:suitable for blind hole

upward chip

4. RECLHE: AREITURBEFWRERE R

Auto parts tap:Provide the professional scheme for the Auto

parts

5. MR EM
Plug gauge

indu

2R/ FEEFLIR 2R FEEFLIR
;)b*g ix E_j( E_’J\ ;mﬁ Ex E_jc E_/J\ ;Ju*g *TIETJ: For jis class 2 drill hole dia ;J, *ITIET:I: For jis class 2 drill hole dia
Specification Precision MAX MIN | Specification Precision MAX MIN (UNC) Sht;ne dslrg K B (UNC) Shtslr; d[a)lr: BX =
MAX MIN MAX MIN
2-56 RH4A 2.02 1.96 | 2-64UNF  RH3 2.04 1.98 |NO.1-64 1.55 1.582 1.425 | N0O.0-80 1.25 1.305 1.182
3-48 RH4 2.32 2.25 3-56 RH4  2.35 2,29 | NO.2-56 1.80 1.871 1.695 |NO.1-72 1.55 1.612  1.474
4-40 RH5  2.60 2.52 4-48 RHA  2.64 2.57 | NO.3-48 210 2146 1.941 |N0.2-64 1.85 1.912  1.756
5-40 RH5 2.93 2.86 5-44 RH4 2.95 2.88 NO. 4-40 2.30 2385 2157 NO.3-56 2.10 2.197 2.025
6-32 RH5  3.17 3.09 6-40 RH5 326 319 | N0 540 260 2697 2487 |NO.448 2,40 2.458 2,271
8-32 RH6 3.83 3.75 8-36 RHS 388 380 |\0 . 280 2895 2642 |NO-54 270 2740 2551
10-24 RH6  4.35 4.26 10-32 RHS 448 441 |\ 0 o sa0 3530 3302 |NO-6740 290 3022 2820
12-24 RH6  5.01 4.92 12-28 RHS 5,08 5.00 |\ 00 2o aom g egs |NO-836 350 3.606 3404
1/4-20 RH6 5.76 5.66 | 1/4-28 RH5  5.93 5.86 NOI .y 4' 5 4' 507 4' s NO.10-32 4.10 4.165  3.963
5/16-18 RH7 7.29 7.18 | 5/16-24 RH6  7.46 7.38 1'/4 % '10 '2 4’9 0 NO.12-28 4.60 4.724  4.496
- 5, 5.257  4.97
3/8-16  RH7 8.78 8.66 | 3/8-24  RH6 9.05 8.96 1/4-28 5.50 5.588  5.360
71614 RH7 10.25 10.11| 7/1620 RH7 10.54 10,44 |X16718 660 6731 6401 |00 690 7.035 6782
1213 RH8 11.78 11.62| 1/220  RH7 1212 12.02| ¥/816 800 8153 7.798 | 5,854 850 8636 8382
9/16-12  RH10 13.27 13.14| 9/16-18 RH9 13.66 13.55| /16714 9.40 9.550  9.144 | 71650 990 10.033 9.729
5/8-11  RH11 14.76 14.62| 5/8-18 RHO 15.25 15.14 | 1/2-13 10.90 11.023 10.592 | 1,2 20 11.50 11.607 11.329
3/4-10  RH12 17.88 17.67 | 3/4-16 RH10 18.32 18.22 | 9/16-12 12.20 12.466 11.989 | 9/16-18 12.90 13.081 12.751
7/8-9  RH12 20.85 20.68| 7/8-14  RHI1 21.38 21.27 | 5/8-11 13.60 13.868 13.386 | 5/8-18 14.50 14.681 14.351
1-8 RH13 23.84 23.65 1-12 RH12 24.41 24.28 | 3/4 -10 16.60 16.840 16.307 | 3/4 =16 17.50 17.678 17.323

FELETILERTELRX IBHLETIETEAR
NRT HOLE DIAMETER FORMULA NUT TAP DRILL HOLE DIAMETER FORMULA

1. SN2 —3ZF BE*0. 45="T FL<D-P*0. 45>
2. dN=D-0. 2P—0. 00403*P*f1+0. 0127%n
N=TFLI#E
n=RH¥E E
1. dN=D-P*0. 45
2. dN=D—-0. 2P—0. 00403*P*f1+0. 0127%n

dN=Hole diameter

P=Pith

f1=Formula

D=

B8 | @ HEGONG

FHEINZ

D=Diameter
n=RH

P=2F B

f1—|]/\/\, <

TFLE=D-2*H1* (K& ZFE/100)

D=%h12 H1 (ZFLLE) =0. 5413*P

Drill hole diameter=D—-2*H1* (thread over lap
ratia/100)

D=Major diameter H1(height of

thread) =0.541266P

EHIRGINERITFEHE AR
UNC EXTERNAL DIAMETER & PITCH FORMULA

EHIIRITE AR 0. 33%No. +1. 524

UNC EXTERNAL DIAMETER FORMULA:O. 33*No.+1.524
EHFEHEAR: FIE=25. 4mm/ L% (5 ZE~T 1B 80 %0
UNC PITCH FORMULA:Pitch of Thread

=25. 4mm/Threads per inch

2l 4 4 SRR L 4N FIRG(M)
METRIC THREAD FORMING TAP | NUT TAPS METIRICE SCREW THREADS

- - OHTRFLIZR T (HoLE size)
Mg BE &KX | AR -
Specification Precision MAX MIN | Specification Hsij( = ,J\
MAX MIN
M1.0x0.25 RH4  0.92 0.90 | M3.0x0.50  2.599 2. 459
M1.1x0.25 RH4  1.02 1.00 | MAOx0.70  3.422 3.242
M1.2x0.25 RH4 1.12 1.10 | M5-0x0.80  4.334 4.134
M1.4x0.30 RH4 1.294 1,27 | M6-Ox1.00 ~5.153 497
W 60.35 R4 148 144 | W-0x1.00 6153 5.917
M8.0x1.25  6.192 6. 647
M1.7x0.35 RH4 1.58 1.54
M8.0x1.00  7.153 6.917
M2.0x0.40 RHA 1.85 .81 | o T i
M2.3x0.40  RHA 215 211 | Lo oo 8 912 8. 647
M2.6x0.45 RH4 243 238 | M12x1.50  10.676 10. 376
M3.0x0.50 RH5 ~ 2.81 276 | M12x1.25  10.912 10. 647
M3.5x0.60 RH5  3.26 3.20 | M14x2.00 12. 21 11.835
M4.0x0.70 RH6  3.70 3.65 | M14x1.50  12.676 12.376
M5. 0x0. 80 RH6 4.66 4.59 M16x2. 00 14. 21 13.835
M7.0x1.00 RH7 657 648 | W8x2.50  15.744 15. 294
VB.Ox1.25 RM7 741 7.34 | Wi8x2.00 16. 21 15.835
M8.0x1.00 RH7  7.57 7.48 BB 45 5 SEHMR A (V)
I A R Rl '\UT TAPS UNIFED SCREW THREADS
[\ /Z N
W0x1.25  RH7  9.41 9.34 | g BRFLER T HoLe size)
M10x1. 00 RH7 9.57 9.48 Specification f-ik Hailj\
M12x1.75 RH8  11.15 11.05 s 1Y
M12x1. 50 RH7 11.28 11.18 NO. 6-32UNC 2.895 2. 642
NO.8-32UNG  3.530 3.302
M2x1.25  RH7  11.41 11.34 |\o" 0 omme 3 962 3,683
M12x1.00  RH7  11.57 11.48 [NO.10-32UNF  4.165 3.963
M4x2.00 RH10 13.04 12.92 [NO-12724UNC  4.597 4.344
NO. 12-28UNF  4.724 4. 496
M16x2.00 RH10 15.04 14.92 | 1/4-28UNF  5.588 5. 360
5/16-18UNC 6. 731 6. 401
W6x1.50  RHY15.30 1521 1016 amF 7. 035 6.782
M18x2.50  RH11  16.78 16.63 | 3/8-16UNC 8.153 7.798
M18x1.50 RH10 17.31 17.00 | 3/8-24UNF  8.636 8.382
1/2-13UNC  11.023 10. 592
M20x2.50  RHI1 18.78 18.63 | o one 14 go7 11 329
M20x1.50 RH10 19.31 19.22 | 5/8-11UNC  13.868 13.386

2 (4R) Bl 2 4
METRIC COARSE CUTTING TAP

IPETHI L

DRILLING SIZE OF STI TAPS
METRIC COARSE
VL2 C

1. LRI ASETHMRARERmEWR, NESE.
The proper drill hole size may change due to material
variety. Use the recommended drill hole size as a
benchmark

2, RKILESEMR, BE, PRRTEZZmMEL, &
FheF TR,

As the hole diameter may vary by behavior of
plasticity depending on the material, hardness and
shapes of workpiece, the hole diameter should be
determined through trial tapping prior to final
machining

3, RFALHBEASEFFEKED,
T,

A larger drill hole size is better for extending
tool life.Select a drill hole size based on your
particular application.

4, [RFLBVEF, S SEMIERE, 5FE.

To avoid tapping trouble, correct hole must be
maintained free from warp, deformation, stagger and
the like.

FIREMTENAIE

zz&%ﬁi?mé SCREW THREADS
— s - 3 . ~
HAE E;E:; e 2allaodE e JEFLE R0l hole dia E?;
Specification ’ = =1\ T
oeve TR OB | U0 Bokue B e
M.0x0.25 0.75 0.785 0.729 |M2.5x0.45 2.65  2.60  2.60
M1.2x0.25 0.95 0.985  0.929
Wi 4x0.30 1.10 1142 1.075 ["2004 275 270 270
M1.6x0.35 1.25 1.321  1.221 [M3.0x0.50 3.20 312 315
M1.7x0.35 1.35 1.421 1.321 |m4.0x0.70 4.30 4.17 4.20
M1.8x0.35 1.45 1.521  1.421
M2.0x0.40 1.60 1.679 1.567 |W-0x0.80 533 516 520
M2.3x0.40 1.90 1.979  1.867 |M6.0x1.00 6.42  6.25  6.30
M2.5x0.45 2.10 2.138  2.013
M2.6x0.45 220 2238 2113 B0 852 831 840
M3.0x0.50 2.50 2.599  2.459 |MIOx1.50 10.62  10.37  10.50
M3.5x0.60 2.90 3.010  2.850 |yiox1.75 12.73 12.43 12 50
M4.0x0.70 3.30 3.422  3.242
MA.5x0.75 3.80 3.878 3. 688 M14x2.00 14.83 14. 49 14.50
M5.0x0.80 4.20 4.334 4.134 |M16x2.00 16.83 16.49 16.50
M6.0x1.00 5.00 5.153 4.917
M7.0x1.00 6.00 6.153 5.917 |MI0x1.00 10.42  10.25 10.30
":ﬂ%é”;’-;: g—gg g- 2172 g- 2‘7‘2 MI0x1.25 10.52 10.31  10.40
X1. b b
M12x1.75 10.30 10.441 10.106 |M12x1.25 12.52 1231 1250
M14x2.00 12.00 12.210 11.835 |M12x1.50 12.62 12.37  12.50
M16x2.00 14.00 14.210 13.835
M18x2.50 15.50 15.744 15,294 |M14x1.50 14.62  14.37  14.50
M20x2.50 17.50 17.744 17.294 |M16x1.50 16.62  16.37 16.50
355 (20) B0 ) &2 46 gy  URILL COARSE
METRIC FINE CUTTING TAP “* SCREW THREADS
e 2BFHILE RFLER 45k
m FRAETR For jis dass 2 drill hole dia m Drill hole dia =
S ;J"f'*g Standard - - 5 ;)Lf'% —_ — Efl
pecification hole Dia 2K B2\ pecification Eij( EE'J‘ Su\vtab‘le
MAX MIN MAX MIN Drill dia
M1.0x0.2 0.80 0.821 0.783 |NO.2-56UNC 2.39 2.29 2.3
NO.3-48 2.74 2.64 2.7
M1.2x0.2 1.00 1.021  0.983 | pNo.4-40 307 2.95 3.0
NO.5-40 3.38 3.25 3.3
W.40.2 120 1.221 1183 | Lo SN Yo 55
M1.6x0.2 1.40 1.421 1.383 | NO.8-32 4.47 4.32 4.4
NO.10-24 5.21 505 5.1
M1.7x0.2 1.50 1.521 1.483 | NO.12-24 5.77 5.61 57
1/4-20 678 663 6.7
W.8x0.2 1.60 1621 1583 | L S oo g g
M2.0x0.25 1.75 1.785 1.729 | 3/8-16 1.1 9.91  10.0
M2.3x0.25 2.05 2.061  2.001 [NO.4-48UNF 3.05 2.97 3.0
NO.6-40  3.78  3.66 3.7
M2.5x0.35 2.20 2.221 2121 NO. 8-36 4. 44 4.32 4.4
NO.10-32 5.13 4.98 5.0
M2.6x0.35 2.20 2.246 2186 | 1,00 Sl oin e
M3.0x0.35 2.70 2.721 2.621 | 5/1624 838 820 82
3/8-24  9.96 9.78 9.8
M3.5x0.35 3.20 3.221 3.1
M 0x0.50 3.50 3.599 3.450 BRIl
T ' ' ' NHIIRSr  METRIC SCREW THREADS
M5.0x0.50 4.50 4.599  4.459
M6.0x0.75 5.30 5.378 5.188 | K& EE r'J‘“?ﬁ (gf‘fﬁ%)
M8.0x1.00 7.00 7.153 6.917 Speufcatlon Precision (Threads Overiap Rvetio:%)
M2.5x0.45 2 2.8472.87(100-80)
W10x1.00 9.00 9.153  8.917 w2 6x0.45 2  2.9472.97(100-80)
M12x1.50 10.50 10.676 10.376 |[M3.0x0.50 3 3.39"343(100-80)
M4 0x0.70 4 45474 58(100-85)
M2x1.25 10.80 10.912 10.647 |ys 0,080 4 5,615 66(100-85)
M12x1.00 11.00 11.153 10.917 |[M6.0x1.00 4  6.7576.81(100-85)
il 50 1250 12676 12376 |"E OB 5 8.939.01(100-85)
Midx1.50 12.50 12.67 376 | miox1.50 5 11.11711.17(100-90)
Méx1.50 14.50 14.676 14.376 |M10x1.25 5  10.93711.01(100-85)
M2x1.75 5  13.28713.35(100-90)
WI8x2.0 16.00 16.210 15.835 | o' & 43 19713 17(10090)
M20x2.0 18.00 18.210 17.835 |MI12x1.25 4  12.93713.01(100-85)

HEGONG & |




